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W3: R= 200,00 m = 17,84°
PW= WK= 31,40 m SW= 2,45 m

PSK= 62,29 m
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W4: R= 150,00 m = 36,82°
PW= WK= 49,93 m SW= 8,09 m

PSK= 96,39 m
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W5: R= 300,00 m = 13,12°
PW= WK= 34,50 m SW= 1,98 m

PSK= 68,70 m
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W6: R= 300,00 m = 7,13°
PW= WK= 18,69 m SW= 0,58 m

PSK= 37,33 m
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W7: R= 300,00 m = 8,01°
PW= WK= 21,01 m SW= 0,73 m

PSK= 41,96 m
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W8: R= 300,00 m = 8,21°
PW= WK= 21,54 m SW= 0,77 m

PSK= 43,00 m
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W9: R= 500,00 m = 3,92°
PW= WK= 17,12 m SW= 0,29 m

PSK= 34,23 m

W10:
R= 25,00 m =56,84°

PW= WK= 13,53 m SW= 3,43 m
PSK= 24,80m
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L= 59,08 m L= 102,67 m L= 46,32 m L= 121,58 m L= 30,37 m 3,65 4,82

26,08 i= 1,71%20,32i= 0,62% R= 2500,00 m
T= 13,58 m B= 0,04 m


